COL.=

Vereinfachung von Exponentenausdriicken (2
Variablen)

Name:

A 3 YD) 63

7 x PO x5y
8% 2 D) D

6 x y5 x2(x(—1))4 x(_z)(y(_z))4

9)(?8 > y3 (X6 % y6 )3

X 2 D)D)

2,9 x y(—l) o < Y
2% D)

Datum: Ergebnis:

20 xS x (D

8X(_7) « y(—S)(x6 ><y6 )5
9% D D)D

48 x YIS x YD)
8 Y

St x At )

4 x )/2X4 (x(—2) )2x(—2) ()/3 )3
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COL.=

Vereinfachung von Exponentenausdriicken (2
Variablen)

Name:

A 3 DD x 6)3

y26

+19

T PO 7y
8 x 12(x(-2)(-1)

7172
g'

6 x y5 x2(x(—1))4 x(—Z)(y(—Z))4

x4 y3

9x8 > y3 (X6 % y6 )3
1% 32(C D)D)

9x24y19

8x(—9) % y(—l)(x4 % y4 )3
PGy

4x6 y9

Datum: Ergebnis:

2 x (S x D
2x21
yl9

87 % (6 x 4y
X YD D)D)

8
22,26
9 y

8 X y(—2) (x3 )4
1
2y31 yl 3

(-2) X )( 3)
5x8
y13

5x° ><y(x

4 x )/2)(?4 (x(—2) )2x(—2) ()/3 )3
4y11

x2
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